
Quick Installation Guide for Nodal Ninja Ultimate M1S

Install anti-twisting 
screws here1. Install 2 anti-twisting 

    screws on QRC-55.

 

2. Mount the QRC-55 
    to lower rotator using
    an M6 screw.

3. Attach MFR-Dovetail 35     
    to the end of MFR-160,      
    by using 2 M5 screw 
    with brass fitting.

4. Install QRC-35 to MFVR-160
    by using 2 M5 screw with
    brass fitting. 5. Install a machined M3 

    cup screw at the central
    socket of QRC-35 to act
    as a stop screw.

6. Mount the upper 
    rotator to MFVR-160
    using 4 M4 flat head
    screws. The 0 degree
    mark should be at 
    horizontal position.

7. Press the plastic fitting to 
    the upper rotator tightening
    knob. Tighten the knob to the
    upper rotator and then install 
    the knob retention screw.

14. Slide MFR-160 along 
      QRC-55 to set correct
      NPP for upper and 
      lower rotators. 

13. Slide QRC-35 to far 
      left or right so that
      it is flush with plate
      below. Tighten the 
      knob on QRC-35.Slide the 1/4” screw and 

hence QRC-40A far most

Install here

8. Install 2 anti-twisting 
    screws on the QRC-55.

9. Mount the QRC-55 to
    Upper rotator using a 
    3/8” screw 

10. Install a 3/8” to 1/4” adapter
      on the QRC-40A

11. Install an anti-twisting
      screw on the QRC-40A

12. Install a 1/4” screw on MFR-160. Mount the
      QRC-40A to MFR-160 using the 1/4” screw 
      while sliding the 1/4” screw to the far end. 

Install an anti-twisting 
screws here

Notice the orientation of 
MFVR-160 and QRC-35.

Notice the orientation 
of MFVR-160.

1

2

3 4
5

6
7

8
9

10

11

12
13

14

14


